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There are 30 questions in all in this Section. All questions are compulsory.
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As a result of cooperative learning
among the learners

(A)
(B)

learners become self-reliant
all learners learn equally
learners' motivation declines

(D) they do not feel the needs for

teachers.
Which one is correct ?
The gifted children
(A)
(B)
(©)
(D)

How can you remove anxiety from the
learners ?

(A)
(B)

are always calm and quiet
always behave extraordinarily
solve problem quickly

perform any task quickly.

By never imposing punishment

By granting complete freedom in
the classroom

(€)
(D)

By showing no bias to anybody

By advising them not to be

anxious.

The way of teaching the learners
about environment is

(A) to get them acquainted directly
with the environment

(B) to make them aware about the
various problems of environment

(C) to teach the environment related
contents in various subjects

(D) to teach environmental science.
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According to Vygotsky

(A) culture is the outcome of

education

(B) culture 1is the tradition of
education

(C) culture is the only determinant
of education

(D) culture is the facilitating factor
of learning.

Mathematics learning of children

depends on

(A) maturation

(B) intellectual ability

(C) interest

(D) development of spatial
reasoning. :

Which one of the following is not

related to creativity ?

(A) To think quickly

(B) To perceive relation between
impossible things

(C) Work hard continuously

(D) To solve problem in a novel way.

How can one understand the extent
of student's learning readiness ?

(A) Spontaneous interest
(B) Correct answer to the teacher's

question

(C) Requesting teacher to dictate
. notes - ]

(D) Completion of home  task
regularly.

In examination copy most of the

students have committed error in

answering a question. What may be

the probable cause ?

(A) They did not pay attention in the
classroom

(B) They did not study it at home

(C) The language of the question
was not proper

(D) The teacher did not say that it
was important.
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Sometimes the first generation
learners may be inattentive in the
class, because

(A)
(B)

there is none to help at home

has to perform many household
work

there is lack of effort in studies

difficulty in understanding the
teacher's language.

Who is known as the father of child
centric education ?

(A)
(B)
(©)
(D)

Who conducted the factor analysis of
intelligence first of all ?

(C)
(D)

Dewey
Froebel
Montessori

Rousseau.

(A) Thurstone
(B) Gardner
(C) Carroll

(D) Spearman.

Reading of literature is essential for
children because the child

(A)
(B)
(C)
(D)
Individual differences occur among
children due to

(A) heredity onlj

acquires knowledge
develops imagination
acquires difficult words
builds character.

(B) environment only
(C) growth
(D) combination of first two.

What may be the probable cause of
mistake in writing the same spelling
repeatedly ? '

(A) Learning disability

(B) Low vision

(C) Tendency to commit mistake
(D) Low intelligence.
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What is the duty of teacher in

generating motivation among the

learners ?

(A) To advise the learners from time
to time

(B) To rebuke occasionally for
mistakes

(C) T‘o accept the level of success as

one can attain
(D)

How can the interest of the learners

To maintain very high standard.

be maintained ?

(A) To deliver good lectures

(B) To cite good examples from the
text-books

(C) To cite examples from the
learners’ familiar environment

(D) To check studies everyday.

The knowledge of learners' emotion is.

essential for teacher. One of its

reasons is, teacher can

(A) remove anxiety of the learners

(B) control anger of the learners

(C) keep the learners quiet by
threats of examination

(D) stop amusing behaviour.

Which one of the Acts is not related to

inclusive education ?

(A) Right to Education

(B) Prevention of Child Labour

(C) Prevention of Corporal
Punishment

(D) Custody of the Special Need
Children.
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20. What is the - meaning of

comprehensive evaluation ?

(A) Evaluation of the whole
curriculum

(B) Evaluation of all-round
development

(C) Evaluation of the whole
intellectual ability .

(D) Evaluation of all students
simultaneously.

Effective way to know about a

student is

(A) evaluation

(B) play

(C) wisit his home

(D) observation.

What will you do if a student is

repeatedly  teased by  another

classmate ?

(A) Punishment of the classmate

(B) Separate sitting arrangement

(C) Counselling of the classmate

(D) Call the guardian.

How can teacher identify brilliant

students ?

(A) On their examination result

(B) Observing their classroom
behaviour

(C) Getting family history

(D) Based on .the relationship with

24,

6001

other students.
What is the best way for a teacher to
maintain discipline in the classroom ?

(A) To assign group tasks

(B) To lecture about the need of
discipline

(C) To lodge complaint with the
headmaster

(D) ' To impose strict punishment.
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Cause of failure of students is

(A) lack of memorization power
(B) not to strive for assimilation
(C) absence of frequent tests
(D) not to follow the teacher.

Modern education system is

(A) curriculum centric

(B) child centric

(C) bookish

(D) teacher centric.

What is meant by concept ?
(A) Specific knowledge

(B) Judgement ‘

(C) Picture

(D) Imagination.

In which stage of life development
does child start to speak ?

(A) Infancy

(B) Late childhood

(C) Adolescence

(D) Early childhood.

The first socialization of a child is
facilitated by

(A) language

(B) isolation

(C) observation

(D) independence.

Concept formation depends on

(A) learning

(B) transfer

(C) vision

(D) imagination.
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SECTION - 11
Language - English
There are 30 questions in all in this Section. ;
All questions are compulsory.
 Part-A

Direction : Read the following passage and answer the questions ( 31/61 — 38/68 ) that
follow :

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books
about the adventures of brothers Frank and Joe Hardy. teenaged detectives who solve
one baffling mystery after another. The Hardy Boys were so popular among young boys
that in 1930 a similar series was created for girls featuring a sixteen year old detective
Nancy Drew. The cover of volume of The Hardy Boys states that the author of the series
is Franklin W. Dixon; the Nancy Drew mystery stories are supposedly written by
Carolene Keene. Over the years, though, many fans of both the series have been
surprised to find out that Franklin W. Dixon and Carolene Keene are not real people.
Who then wrote these books ?

The books were written through a process called ghost writing. A ghost writer
writes a book according to a specific formula. While they are paid for writing, their
authorship is not acknowledged and their names do not appear on the published
books. :

The initial idea for both The Hardy Boys and the Nancy Drew series was
developed by Edward Stratemeyer, who owned a publishing company that specialized
in children's ‘books. Stratemeyer noticed increasing popularity of mysteries among
adults and surmised that children would enjoy reading mysteries about younger
detectives with whom they could identify themselves. He first developed each book with
an outline describing plot and setting. Once that is completed he hired a ghost writer to
convert it into a book slightly over 200 pages. Once Stratemeyer approved the book, it
went to the print.

Both the series ran for so many years and that is why, both of them had a number
of different ghost writers. However the first writer for each series proved to be the most
influential. He was a Canadian journalist by the name of Leslie McFarlane. A few years
later Mildred A. Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines both developed character themselves. Wirt
had been a star college athlete and gave Nancy a similar ability. McFarlane used
elements of his small Canadian town to create Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic. Many teachers and
librarians objected to the ghost-writing process, claiming it was designed to produce
books quickly rather than create quality literature. Some libraries — including the New
York Public Library — even refused to include the books in their children’s collection.
Ironically this decision actually triggered the sales of the books.

Regardless of the controversies about their literary merit, each series of books has
exerted an undeniable influence on American and even global culture.

486001 6001 | PR,
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Some teachers and librarians objected to the ghost writing series because they
(A) disapproved of mystery stories
(B) thought that the books were too expensive
(C) believed that the books were not quality literature
(D) disliked the business practice behind the series.
Which of the following describes the author's attitude towards the series ?
(A) Balanced and respectful (B) Doubtful and criﬁcal
(C)  Hostile but forgiving ~ (D) Overwhelmingly appreciative.
According to the passage the Nancy Drew mystery series was introduced in
(A) 1927 (B) I 1925
(C) 1929 (D) 1930.
Which would be the appropriate title of the passage ?
(A)  Ghost Writing : A Way of Life
(B) The Dubious Yet Profitable Practice of Ghost Writing
(C) The Hardy Boys and Nancy Drew : A Ghost Writing Series
(D) A Critique of Ghost Writing.
Who was the real writer of the series according to the passage ?
(A) Carolene Keene - (B) Franklin W. Dixon
(C) Leslie McFarlane (D) Hardy.
A ghost writer is someone who
(A) © writes about ghosts and strange events
(B) does not receive credit as an author
(C) invokes spirits and supernatural elements to write
(D) takes lot of money for writing.
What does the word 'surmised' mean ?
(A) Guessed (B) Questioned

(C) Knew (D) Surprised.
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The Hardy Boys and Nancy Drew series were created on the idea that

(A) mystery books for adults are popular
(B) children enjoy reading about characters they can relate to
(C) girls and boys are not interested in the same thing

(D) the writer needed money.

Direction : Read the following poem and answer the questions (39/69 — 45/75) that follow :

39/69.

40/70.

41/71.

486001

Futility
Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke him, even in France.
Until this morning and this snow,
If anything might rouse him now
The kind old sun will know.
Think how it wakes the seeds —
Woke, once, the clays of a cold star.
Are limbs so dear-achieved, are sides
Full-nerved, — still warm, — too hard to stir ?
Was it for this the clay grew tall ?
— Or what made fatuous sunbeams toil

To break earth's sleep at all ?
"... what made fatuous sunbeams toil ..." is an example of
(A) synecdoche (B) periphrasis
(C) personification (D) simile.

The general tone of the poem can be described as

"(A) sad and tragic (B) full of mirth

(C) satirical (D) humorous.

The meaning of the line "Woke, once, the clays of a cold star” is
(A) broke the cold star into pieces |
(B) brought life into the cold planet now called earth

(C) made the clays of the planet

(D) made a cold star warm.

[ P.T.O.



18

42/72. If anything is capable of awakening "him" it is

(A) the warmth of the sun (B) the sun alone knows

(C) the daylight | (D) the morning snow.
43/73. The poet "urges to move him into the sun " because

(A) it is warm (B) it woke him once earlier

(C) it is day-time : . (D) it will ease his pain.
44/74. The sun "always" woke him in

(A) England (B) India

(C) Italy (D) France.
45/75. "Was it for this the day grew tall" — is an example of

(A) metaphor (B) metonymy

(C) chiasmus (D) alliteration.

Part - B

Direction : Answer the following questions by selecting one option :
46/76. How can language comprehension and proficiency be evaluated ?

(A) By evaluating all the four skills in different periods of time throughout the
course

(B) By evaluating all the four skills at th? end of the course
(C) By evaluating only reading and writing
(D) By evaluating only speaking and listening.

| 47/77. What is the main challenge of teaching language in a diverse classroom ?
(A) Facing slow and weak learners
(B) Facing a mixed-ability group of learners
(C) I Facing infrastructural problems
(D) Facing the good students in the class.

48/78. While using problem solving method the teacher should

(A)  participate actively in the process
(B) encourage divergent thinking
(C) ask the students to consult their parents

(D) look at the students' activities from a distance.

© 486001 6001
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49/79. 'Overlearning' is the term used to describe
(A) practice that continues after a perfect recall has been achieved

(B) the practice of learning over and beyond the requirement of a particular
class / age

(C) the practice of spending too much time on studies
(D) the practice of overburdening the students with tasks.

50/80. Tasks to improve spelling should not include

(A) reading (B) listening
(C) writing (D) use of dictionary.
51/81. Giving dictation is not useful for

(A) learning the correct form of the langua'ge
(B) developing language skills
(C) developing short term memory
(D) helping students to spell correctly.
52/82. Gender stereotypes can be discouraged by
(A) helping the boys to accept failure
(B) encouraging girls to take up sports
(C) asking gﬁls to arrange for the snacks in a class picnic
(D) encouraging girls to take up challenging jobs in life.
53/83. Abstract intelligence tests
(A) verbal skills
(B) manual dexterity
(C) numerical ability
(D) manipulation of symbols.
54/84. Today emphasis should be given to
(A) electronic gadgets used for teaching-learning process
(B) chalk-and-talk method of teaching-learning process
(C) learning through foreign collaboration

(D) value based teaching-learning process.

486001 : 6001 FRTO,
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55/85. Effective learning takes place when the students are
| (A) quiet (B) obedient

(C) interactive (D) preparing for examinations.
56/86. A teacher can best develop communicative skills with the students by

(A) encouraging to speak in that language continuously
(B) giving dictation
(C)  correcting grammar and spellings

(D) giving students homeworks in that language.

57/87. While communicating ideas in written form grammar has
(A) akeyrole (B) norole
(C) liberal role (D) none of these.

58/88. Key principle of language teaching is
(A) to motivate the students in the process of learning
(B) to facilitate the learner-centered classroom activities
(C) to maintain discipline in the class
(D) to show the teacher's mastery over language.

59/89. In a language-teaching class the primary skill(s) to be developed in children is/

are

(A) Listening (B) Speaking

(C) Listening and Speaking (D) Writing.
60/90. A multi-lingual classroom is

(A)  students with different mother tongues
(B) students coming from different regions
(C) students with different cultures

(D) students with different social backgrounds.

486001
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Section - II

Language - Hindi
79 faum & a1 307w § | Wity aifard €

There are 30 questions in all in this Section. All questions are compulsory.

Part - A

few: frafafea w=iw vewt 39 o W fou T gl ( 9y @@ 31/61 9 36/66 T ) &

I % foru g Sfem fashed 9T
" 31| F Ml Aig | g9 | ",
i TR H I o w1 E |
HAA ITEEA T A T M,
EV IEATHA WA HT @I § |
FHEq B AN T IS W H,
AT G R ged ® |
e R A # I A 4,
S R T o @I R
31/61. e Aig ® °9F &1 Fn Hd & ?
(&) 7 H WG & (B)
(C) T T (D)
32/62. Hfa @N 1 Hel F&l o= W ?
(A) YT | . (B

(0 T gd o g (D)
33/63. #fa f5a T & =afeal Fl g @ T ?

(A) it sty afa €

B) S Iga uRigH §

(C) < Sited &l HeR dAraigwael | a@e §

(D) St SR Ht Samgdl @ B AR F
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34/64. ®fa €M = F AT =EW € 2
(A) aifer @i e ga gk
(B) df weAl H wfaeiicrar o ¥ 3T 9 wifa & 99 7 o1 5y 6&
(C) ¥ & 7§ ¢ 3§f
(D) 4% &fa &1 fae & |
35/65. ' 3ae FTEEA T 9 A g’ —
tfed § FH-91 SEFER ® ?

@) vy B) IUHI
(C) &= (D) 9 |
36/66. Hfadt F1 STYF HF & G ¥ -
(a) Y (B) wragd
(C) =TT (D) wmfa |
Fewr:  frafafas s # gget 3u% sur W fou u uel (9 9@ 37/67 9 45/75 9% )

F I & fou gad 3faa fawey 9w .

famoan &1 7% FoA 95 3t ® T famma & fomn s =1 #2919 72 1 38 9@ F w.
@ Aed € fF srordeeRr % fau Oret aga umfas weem wEEvas @ — W) 39
wawar # AYHE R A9a Sl #1 A B iR 9R 98 aud g | 3¢ 81 | 9% 9 dl
fafyem & foF S 7 WAteTqds Shae =9da & =ed § 3% fou 98 o sfEr 3
@ senfasizar ot ® o form@ o &0 & 59 @e g e | g 1 A =9
B0 a1 91T f 97 9ga &9 9 s €, 39 € oneyl | 9w 9ga e € i 3wt
AT ITR! AFAM A FEl T21 B2 € | S TH T 1 LM W@ e fF 9w oo st
F1 GEHE HY, B R SR Al @ HIHer F FggeR $Y, T 91 Aeq-qaie & o
VIS & | 9% UH HER, W $© &9 § R S $9 s9 ¥ — FH W, FER e,
TR FY, TAX 4, TUR S 3N 9 F I, TN §gd 9 W, S 9 Y0 Fa TH
A F EAYTFHA The F € F5F 70 10 e 1 A9 T =fen | qua § 9w i
T A T & R w0 wgE qEd W de awd ¥ e I e et i s
T W ®) Wt ®, O v w9 F gy off 9 wa € ol o ued W we § fe
ard 1 fofg &Y 5 gwar | T w1 981 3EH A B FY H §, 39 9% Wr faR @
WY | W AT g8t ® 9 Weddh <9 W g feufa & site st U ey et ®

37/67. A9 FE1 a9 SAda HEA Aedl § 2
(A) AHEAS (B) Awaqui
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~ Part- B
fdwr:  frafefes el & s & fog gad v fases g .

46/76. MafgF TR T gEI-se’ wve F fawm § S9-o fafust sifus gems € 2

(€ yfew-frafe ( Ta-< ) 3R FweER-aE
(D) yfre-frafe iR ara=ia S |
47/77. F=0 H MMI-YATE Q1 Aifeheh Wif 1 edishd F vg SUIE §
(a) fofed wiiemd B) Hifas amferd
(C) = Ta (D) T 8§ FE T |

48/78. foa% s17ar ' qeuiwa 9% ufwa ® 59 g0 s 3 o 3 9. & foig #d € & foemo
¥F Tl F e o o @ & @ {2

(A) S F B) w=HEH
€ wWHF D) T & T

49/79. T e = wra1 ver 99 = ¥ 9§ form wieam 1 wAm 9Evgw i 9ifeg ?
(A) TISIIETE HI . (B) WY SieEe W ’
(C) vAmuZE | . (D) W9 9o |
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@) 8T A v e S g 3 fe 3

B) AT A v F T oS e ¥ e

© SR T A v g | '

(D) ‘T’ ot vIdl W FES Wid § % GHe WA FU S99 S4d sier ® $earE wud |
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T &Yq 9 AN
(A) YUid: Teud § (B)  3ivid: WeWd ¥

() faege wewa T 8 (D) wewd § off it T oA
e ¥ fe mu fasi %1 @ IRWE E ¥ 2 |

(@A) fo3 sd SweaTial 1 wuEE H e w0 §

B) fesli § weugE® FHE Sl €

(©) fo= e =t A W} €

(D) Ay H fad 7 &1 y=ed § |

frafafas § @ =9 w foem wems i | weeHite qeE @ 8 2
() @t B) IR

© e (D) USRS |
s A Qw1 IuEmeAs arar-faem 89 T e 1 T 2
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(D) Z99 | |t |

55/85. WIEAfe TR 9T SATRTY ey &1 qaragea gomet €
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Language - Nepali
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There are 30 questions in all in this Section. AH questions are compulsory.
Part - A

A. Trefafaa e 93X |@ifqes (31761 - 40/70 ) I¥EEH HEl ST SR :

TEH S A MR A S gtas e | it sl s gete
T, fafeq ST 9 goesa TRt e TErE W 9 faue | et swe e
femmen fadiy M, 3o Mg fEm W | W iedd e e g5 Y — g $e
FefE refter 2 TR el et S | Tt wgel weafa- e, T, i, e
T3 g1 HEd |3‘—|ﬁ_aﬂﬁﬁwa‘a‘m‘§ IR -, FE AEh! GUH Si9e | THIeS
SAEFAH Yg W faEnefesel Tt TR Se g8 §F TR Sod e 9Ee v,
‘sfee TRE’ — & Ve TRl TR faw R

e Tetee fiar wE ot f wam were! o af foin W $8 v st fag
R e e ——e
ST A Y TR S SR ST e e e s .

31/61. ‘faenedt’ v=gq F7-F7 @R v #A T ?

(&) M+ A B) #F+H

€ 3+ 3 D) 3M+3% I
32/62. ' HEEAM' Ul ' A’ TSI WAM HUH T ?

A A B) ST

(C) FF (D) HEER |
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33/63. ' #g1' FE W 7 ?

GUBSE B) fodwo

(©) foFan ferdroo (D)  FTH
34/64. ‘Hﬁﬁrﬁfﬁaﬁ@rﬁwﬁ’h— WET A TG W A FwH o w2

@ (B) &I

(C) r9EH (D) e |
35/65. ‘Afqw’ & W= & ?

W @ 4 | (B)  fardo

(C) Tam , (D) ﬁﬁhm1€ﬁqi|
36/66. ‘fomnel’ 5= wfu e 8 2

(A) I wfy B) & |y

(C) frarch gf« (D) dHEer g |
37/67. '@y’ w=H ' FA T9T € ?

(A) dfgd B F1

(C) TowameHs® (D) e B |
38/68. IUHF TV eI WMok F7 & ?

(A) T ST - .(BJ A o eqam - et

(C) fEdTeH gt STHTH - et (D) TEAHAAEAAT - T
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39/69. TFETE 5T YRS g7 AiHCH & 2

(A) T SIS HTATE WOl
(B) W&ﬂm“@‘:wwﬁmamm@
(©) Tt e iR SETE WU
(D) T Fie A qohe |
40/70. 3k wfew=h TR 74 T
(a) smeferE wfe B) W AR
() T T | ' D) e |
B. ﬁqﬁmmﬁiﬁwmuﬂ—%/?mmaﬁwm:

‘qzﬁﬁ!ﬁmmlﬂa{ﬁrmgﬂaﬁaﬂaﬁmiﬁém@ﬂgﬂﬁiqﬁﬂ%
T e dfie 1
41/71, ‘=ifa’ w% o= 8@ ?
(&) A ® e fa
© swi (D) WA |
42/72. ‘gEFE’ — & A4 F & ?
(A) = (B)  STg SWE S
(C) e faet - (D)  HTH TEheh! A |
43/73. ‘" ¥ [T9 8 ?

() IWH Y (B) WEAH YeH

C) AN (D) T gEN |
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44/74. 'TEFA’ $5 W= & 7

(A) TEH (B)

(C) v (D)

45/75. ‘Tasfyamr’ — =) 39 & @ ?

(A) . 74T T=mt (B)
() el ygfa (D)
Part - B

46/76.@@?%@%9%%@@?
(A) & | (B)
(C) Tt | (D)
47/77. ‘353" qfAFT WSS A g 2
(A) 9EE gy (B)

(C) TSAREI gy (D)

GEAE!
499 |

A SoEE |

T TR
faex fRafeanr

BRI fog

FREEG TS |

48/78. Wfe STHIH! TR 918 T wfeeh WReta Jureht Wivesr A g1 2

() feragar wd (B)

C) FT=g<™ (D)
49/79. Y TSTFHS farnefews!

(B) e fawmm germ T (B)

(C) wargu faswram weraa e (D)
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50/80. 'Psychology’ ¥&= F THTeh! 9155 &1 7
.(A) e | B
(€ %= - ) e
51/81. faemn =0 @& & & ?
(a) =i fosE B) Afaw gegdiu=i fasE

(©) Wﬁ?ﬂﬁ (D) wmEifsw Sar! T |
_52/82.mwmwmmmmmﬁ:ﬁ?

(&) TEHTA e (B)  3maTHe <

() e sr<re (D) TES<AER A= |
53/83. ‘g8 T g1’ FEe @ FA fave Ffa 8@ ?

(A) el gemg fafad e wegre

.[B) gftvea sgaragn fafea wfaa aw

() armfeE firigr fafiea wvesHed

(D) aEFEw FAER fafad aves= |
54/84. Frfafad Fraife witemagr fafea so=m & ?

@A) S T B (B) AT Y@l

(ca Feeh T (D) 399 A
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55/85. 'serae Ui+’ wEW s wERM 8 ?

(A) qeuH | (B) A
(C) uxH (D)  fergrn
56/86. 'HAIfag’ & & ?
A Wﬂﬁ'—%ﬂﬁaﬂ (B) eHFeR FrE foam
() smiferes fomm (5 (D) ST o o

' 57/87. "We must procure the best teachers for our children whatever it may cost."

I HYH YA B ?
@A) Fa=zmng . (B) TS
(€) =M srfa= (D) =9 TR |

58/88. fary i foaren yaxis =+t g1 ?

@ @ : B) T

(C) HierEf® D) faEwE= |
59/89. ‘gfardt foren afteheum’ wyw! Afcera! 399 & 2
| (a) s - ' (B) TS

(C) THIFWH (D) EEYER |
60/90. e &= o=, feadErs, TRRifeFaERE % 8 2

(A) ufega @ (B) =agia FTEEy

() wfd (D) foavawnt< |
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Section - II
Language — Oriya
a8 SaI96q MG g4 QG | arg 9e9aen QA el AGIY |

There are 30 questions in all in this Section. All questions are compulsory.

-37/67) @9 @G0IT QI0R& QY 6R66IE AAQ AIIR A0S ABQ GY

“UQ8 AR, QHRE, QAEN IRa 19! |
Q@ 9l QY Q&7IR Q6d | 6RITRIE Q6Q 19! |
QAQ 610Qa ARIY QAEN-Ga-2Iq,
cRIPl 1T 99, 08l G @4 | aR e adé |
A2 G994 Qe a6 RIQEe SaI69,
QI8 4 fig golam 07 AIae 19Q-ael |
Q6@ ¢ 6001, FIRQ 719 | Q8 'Y 6QQ |
AI9Q de8 drQ QIQ AES 618 €9Q |
290 Q6P 6FARIA AQe 230 AeF,
QG6n 067 Q0IRQ a8 AFREQ a°Q I
AR 6ae aQ ? .
(A) Q099N 6a8Y (B) 94291909 Q648Y
(C) QIGQIQR easy (D) QgQIoe Q6asY |
70 &R 2190 6PQ 0IQAIA RIRIEN gaIsea Q46 6218 -
(A) Y2l 9% QIQIéN
(B) Y2l 2964 B RCAIRGRE FIQIEN
c g dot 6 2AQENA Q1
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33/63. &@dal cqles & ?

(a)  9qy1de B) Q8|

(C) deleaal ail (D) Ggen |
34/64. Q8 @6 2R ?

(A)  6QQQ! (B) AIRQ

(C) QQArd 62Q (D)  299lQ |
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(A) @Qugl e (B) o 4gle

() 24 edlauoy (D) 98 aa |
36/66. 904 A2I9 QI AR PLAQ '8 6RIG 4188 7

A) e B) 9Q

€ [Q (D) &l
37/67. '606@ QI9- 0o 6RQ 9 ?

(A) Q9 96886l (B) @Q6984Q Qa8

(C) Qea88Q Fcaaé (D) OISR F6ETE |
( 38/68 - 44/74 ) 00 URERAE 0@ Grea @2l AAYSl 9696@a 908 AAQG QY &
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39 0Q @19F cReR ARIP oFica ABQITC AR QQUEA. V1R €U Q E6R CEPA S, 6
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sifere @ faslw
Section - III{a)
Mathematics & Science
a3 eI GG 60 © o ey | v+ widl @B [l buw S0 O e eia e e 2|
There are 60 questions in all'in this Section. The candidates who have selected this subject
must answer all the questions.

a3 sodre 1t SN T A
90° (It AAf&S FAET (1B H9vei®
4 2 :

(A) 2eftsa
(B) A
© T

(D) Gfeiferan |

@b Y IR Aol WP I
165° J¢1, AEGEIGA AL 2o

(A) 12

(B) 24

(C) 6

(D). 8.

wfeare  fager AABC-@qa AF @
ZA =70° TE NBA @ T4EH Ao 2

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC< BC.

ash e "ﬁﬂgtﬁ. a3fb
PRI WA 25° R, FoIE W

(A) 755°
(B) 110°
() 18302
(D) 155°.

486001
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If the two diagonals of a quadrilateral
are unequal and bisect each other at
right angle, then the quadrilateral is
said to be

(A) square

(B) parallelogram
(C) rhombus

(D) trapezium.

If each interior angle of a regular
polygon is 165°, then the number of
sides of the polygon is

A) 12
(B) 24
(C) 6
(D) 8.

The vertical angle ZA of an isosceles
triangle ABC is 70°. Which of the
following relations is correct ?

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC < BC.

An acute angle of an obtuse angled
isosceles triangle is 25°. So the value
of obtuse angle is

(A) 755°
(B) 110°
(C) 130°
(D) 1850,

[ P.T.O.
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97.
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99.
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DE||BC. BC =7 cm 20 DE-@q W
Ll

A
D E
B c

(A) 14 cm
(B) 7cm
(€} 35cm
(D) 14 cm.
(x + 3)(x — 3)-9 x-aF FR% F9 ?
(A) 1
B) 2
(€) O
(D) -1.
x? - 8x +15 af*fba Tesmea g
(A) (x-5)(x+3)
B) (x-8)x+7)
(€)  (x-3)(x-3)
(D) (x-8)(x-7).
a’b? b a3p? , a*p®-93 «Ae. 32q°

2 b-99 VW Z&

(A) 32
(B) 24
(C) 6
(D) 2.

Fﬁ qiferg ‘@‘TW a® +b3; ?!TF‘T@?I

SIAB. (a + b) RET F.71®. }@

(8) (a®+b?)

(B) (a?-ab+b?)
(C) (a? +2ab + b?)
(D) (a? +ab+b?).

58

95.

96.

97.

98.

99.

6001

In AABC, D is the mid-point of AB,
DE| | BC. If BC = 7 cm, then the value
of DE is

A
D E
B 5
(A) 14 cm
(B) 7 cm
(C) 3S5Scm
(D) 14 cm.

The coefficient of x in the expression
(x +3)(x - 3) is

(A) 1
(B) 2
(€ O
(D) =1
The factors of x% - 8x + 15 is
(A) (x - 58)(x+3)
 (B) (x=8)(x+7)
(C) (x-5)(x-3)
(D) (x-8)(x-7).

If the L.C.M. of a2b®, a®b?, a*h’® is
32a* , the value of b will be

(A) 32
(B) 24
€ 6
D] 2.

The product of two terms is R
and H.C.F. of the two terms is (a + b).

So L.C.M. will be

(A) (a2 + bz)

(B) (a?-ab+b?)

(C) (a? +2ab +b?)
(D) (a? +ab+b?).



100.

101.

102.

103.

104,

105.

1994 9 =6
(A) 7880599
(B) 9703011
(C) 7680951
(D) 6879091.
0.63 -@4 @ales oe
63
fRJ - e
100
100
(B) s
7
C st
(€) n
11
et
(D) 9

A ¢ B-¢q Y19 1% 10 929, B8 C-49
qYEIE 918 15 29 @R A 8 C-E9F e
e 20 W A, B¢ C-aF TWCH 9
PO ?

(A) 12-53%F
(B) 17-53%4
(C) 15324

(D) 20 3|
1296-93 55 &
(A) 24

(B) 26

(C) 36

(D) 44.

68, 32, 27, x A 8:2-4F T 5 (@
x99 I+ 2«

(A) 4

(B) 51

(C) 41

(D) 39

3 & wfire sfreama oo w2
(A) 3%

(B) =iyl

(C) ToEa @ @ afb

(D) 68 77 |

959

100. The cube of 199 is

101.

102.

103.

104. The

(A) 7880599
(B) 9703011
(C) 7680951
(D) 6879091. ”
The fraction of 0-63 is
63
()i
100
100
(B)- ==
63
7
@ A
(C) i
11
D o=zl
(D) 5
The average age of A and B is

10 years and of B and C is 15 years
and of A and C is 20 years. What is
the average age of A, Band C?

(A)
(B)
(C)
(D)
The square root of 1296 is

(A) . 24

(B) 26

(C) 36

(D) 44.

average of 68, 32, 2:7, x and
82 is 5. So the value of x is

(A) 4

(B) 51

(C) 41

(D) 39

12-5 years
17:5 years
15 years
20 years.

105. The average of three consecutive

486001

6001

whole numbers is always

(.A) even

(B) odd

(C) any of these
(D) none of these.

[ P.T.O.
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106. 9316 /| BYETd b1afs @9 35 730, qye, 106. Four angles of a pentagon are 73°,

146° €98 138°| LY (@19bd N 97°, 146° and 138°. The value of the
(A) 113° fifth angle will be
. :

(B) 104° (A) 113°

(C) 86° (B) 104°

(D) 83¢. (C) . 86°

107. 9N8f9%® ABCD @ ABEF-9 (%aye. (D) 83°.

NG AN 42 WM T Y 107. The areas of the parallelograms ABCD

h 6 p ' : and ABEF are equal. If their heights
be h & p respectively, then

(A) h>p 4 il

(B) h<p i

(€ h=p W
(C) h=p

(D) (RIS J3 |
(D) none of these.

108. In the figure below, AB| | CD, then the

value of ~BGE is

108. 2w fot@ AB||CD 2¢1. /BGE-99 W
5%

F -
u/
c |
. N i3
90° + x# o 90° + x.ry
/c

. A — / = B
E E
(A) 45° : (A) 45°
(B) 120° B 120°
(C) 135° ©) 135°
(D) 270°, (D) 270°.
109. Nevst (& il e ael fases 169, With which ol the followith ssgics a
SHOH, Tl NI 2 triangle can be formed ?
(A) 95° 45°, 50° (A) 95° 45°, 50°
(B) 95°, 45°, 40° (B) 95° 45°, 40°
(C) 65°, 85° 50° (C) 65°, 85°, 50°
(D) 65°, 55°, 25°, . (D) 65° 55°, 25°.

486001 6001
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111.

112.

113.

114.

1185.

a=fb e Y 32 sl @ 5 i e
AT Q@ AN 2Ne¥ 17 ©f 35 AL

(ACF 16 N e, 3efh 28

(A) 83

(B) -44

(C) =83

(D) 12.

(O TS AT x 429 2" 5 429
G ¢ 5 959 @9 IICT SIS &
(A) (5-x):(5+x)

B)  (x—58):(x+95)

) (10+x):x

(D) (x+5):(x-5).

(2x +12 = 4x? + 4x +1. b a3f

(A) NI

(B) SICew

(C) GHITae

(D) RIS 4 |

RGTE @ GUYETR S 19 : 20 6T,
A) 10%

B) 7-5%

(C) 5%

(D) 2:5%.

936 WA 20% Ja FEET A
37 90 | M T ?

(A) 60

(B) 70

(c) 75

(D) 80.
(p+q)=8 AN
qH 2

(A), .7

(B) 14

(c) 21

(D) 28.

(p-qg)=68F pg-as

486001
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110.

111.

112.

113,

114.

115.
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(©)

When 32 is added to a number and
then multiplied by 5, the product
becomes 16 less than the original
number. The number is

(A) 83

(B) =44

(€C) -83

(D) 12.

If your present age is x, then the

ratio of your ages 5 years before and
5 years after the present is .

(A} (5-x):(5+ x)
(B) (x-5):(x+5)
) (A0+x):x

(D) (x+5):(x-95).

(2x +1)% = 4x2 + 4x + 1. This is an
(A)
(B)
(C)
(D) none of these.

If the ratio of sale price and purchase
price is 19 : 20, the percentage of
loss is :

(A) 10%

(B) 75%

(C) 5%

(D) 2:5%.

If a number is increased by 20%, it
becomes 90. The number is

(A) 60

(B) 70

75

(D) 80. ,

If (p+q)=8 and (p-g)=6, then the
value of pg will be

A 7

(B) 14

[C) 121

(D) 28.

equation
identity
inequation

[ P.T.O.



116.

117.

118.

119.

120.

—

4,7, 12-a9 59 SN} e

(A) 28
B) 21

(C) 14

(D) 35.

9049 x % = x99 y % E y-99 W
56

(A) 25

(B) 50

) 75

(D) 100.

3x? - 2yz + 522 A% MWEA b1
G|

(A). 4

(B) 3

€ 6

(D) 5.

55 kg foretel 25 kg w@l @ S@fRIem @
P SN @ WA e P ?

(A) 11:5
(B)
(C)
(D) 5:11.

@ WY IPNIW A998 Yd B-a3
e faed | A9 FGI 428 B9l
21, B-99 Ao 2R

(A) 214 Il
(B) 556 b1
.(C) 107 GBI
(D) 856 BT |

486001

62

6001

116.

117,

118.

119.

120.

The fourth proportionate of 4, 7 and
12 is

(A) 28

(B) 21

(C) 14

(D) 35.

If x % of 50 = y % of x, the value of
y will be

(A) 25

(B) 50

)75

(D) 100.

The number of variables in the

expression 3x? - 2yz + 522 is

(A) 4
(B) 3
(€) 6
(2) 5.

If 25 kg of zinc and the rest amount of
copper are present in. 55 kg of brass,
what will be the ratio of copper and
zinc there ?

(A) 11:5

8) 5:6

(C) 6:6 ..

2 BB i

The principal amount of A is twice of
B in a joint business. If the profit of A
is'Rs. 428, then the profit of B will be

(A) Rs.214
(B) Rs. 556
(C:J Rs. 107
(D) Rs. 856.



121. fefEResim s @w «@d@ anfimd @2

3 2
(A) GBI
(B) AFEETCIGI
(C) «rEeI™ICE
(D) smffere |

122. fAsfeReefm  @mE Wi @ier
qY ?
(A) @@
B) w2
©) fasenye gwies
(D) CeTa |

123. Fefrfioefm @ntce wfefae gyomes
eeifEe 2
(A) JR WY
(B) WI®A W1g
(C) %2 Wy
(D) i3 g )

124, Feferfae (e efdia ssmst ga BHiferyn 2
(A) ZTRY
(B) (B!
() ohrarfmEm
(D) SIS |

125. e W™ o) Wl SHib e

" A) TFe

(B) 9%
(C) ST
(D) =I5 |

126. 016 *Micla fade 2@t (12 omied 2o
(A) CoRR pET
(B) b= omig

€) @b pEe @ Wil wblee smid
(D) @ pET @ UM @b (BFS oMY |
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121.

122,

123.

124.

125.

126.

6001

Which one of the following animal
body phyla has segmented body ?

(A) Mollusca

(B) Echinodermata

(C) Aschelminthes

(D) Annelida.

Which of the following is not a
mammalian character ?

(A) Pinna

(B) Mammary gland

(C) Three chambered heart

(D) Hairs.

Which one of the following does not
have accessory respiratory organ ?

(A) Anabus sp

(B) Clarius sp -

(C) Labeo sp

(D) -Heteropneustes sp.

Which one of the following animals'
locomotory organ is cilia ?

(A) Hydra

(B) Earthworm

(C) Paramoecium

(D) Amoeba.

The organ responsible for secretion of
bile is

(A)
(B)
(©)
(D)
When repulsion occurs between two

substances then those two
substances are

liver
kidney
pancreas

stomach.

(A) both magnets

(B) both magnetic substances

(C) one is the magnet and the other
is non-magnetic substance

(D) one is magnet and the other is

magnetic substance.

[P.T.O.



127. IR G (NS
oieLqIaE 9@ 31

(A) FMAS
(B) BIBIE
(C) SHIETS
(D) STE |

128, s <1 sﬁ\sm@onwrmw e

(A) PR

(B) @Cieje=irer

(C) el

(D) eS|

129. fAsinReelg @b e @ﬁ:‘sﬁ q3 2

() o

(B) =B eEal

(C) wﬁw@aw

(D) =1 |

130. 2&wifaslbe diaw @ wwel  sare

A S WA A6 2o
(A) cFrIEEbe

(B) IRy

(C) * sweifer <

(D) FREAICE | |
131. (31 2 afe<er qim wfeRe »

(A) 27z ;

(B) G1=I

(C) T

(D) =FIEG |
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127. The electrode which is connected to

the positive pole of the battery is
called

(A) cathode

_(B] cation
(C) anode
(D) anion.

. Casparian strip is made up of

(A) Chitin
(B) Cellulose
(C) Pectin

(D) Suberin.

. Which of the following is not a green
plant ?

(A) Lotus

(B) Spirogyra

' (C) Agaricus

(D) Fern.

.In an eukaryotic cell, the organelle

responsible for aerobic respiration is

~ (A) Chloroplastid

(B) Mitochondria
(C) Golgi body
(D) Lysosome.

substance is known as

‘bucky-ball' ?

(A) Diamond

(B) Gold
(C) Fullerene
(D) Graphite.



132. AFEMa Soimmafe f f 2
(A)
IETCEH
P, N @ AL
JE, AETEE @ AZ64
e,  onfeas  FBEG
- BIfTRIN AT |
133. 9 GEAl R 4592 23
(A) OFET AREICEH
(B) 9OF¢1 2IRCYICEH
(C) FHEY TIEHHIZY
(D) st Rferars|
ofI fewr g o7 4raell (v
(A) TWIHEETS
(B) Wlehey -
(C) AIeA AT
(D) C&. C81. b3 |
afom-afd wara Taizad 28
(A) HI
(B) Tl
(C) CaI&
. (D) T
136. TGEORET T LAFSAE *MIh 2o
A) faferfam
(B) canemsifas
(C) SR
(D) confasies |
137. SWE@AIerE G WAl (@raiba A ge
(A) FEeeEs
(B) @fFCRiIED
(C) YNW@PTRG
(D) CRAIGIAIZG |

(B)
(C)
(D)

134.

135,

486001
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132.

L33

134.

135.

136.

130,

6001

What arc the components of Gun
powder ?

(A) Carbon, potassium nitrate and

potassium sulphate
(B)
(C)
D)

Carbon, sulphur and bismuth
Carbon, sulphur and nitre

Sulphur, sodium nitrate and

~ potassium sulphate. .

The substance used in rocket fuel is

(A) liquid nitrogen
(B) liquid hydrogen
(C) carbon dioxide
(D) liguid helium.

The concept of stationary orbit in an
atom was proposed by

(A) Rutherford
(B)
(C)
(D)

An example of a solution made of
solid in solid is :

(A)
(B)
(C)
(D)

Substance
clotting is

(A)
(B)
(C)
(D)
The cell responsible for immunity is
(A)
(B)
(€
(D) hepatocyte.

Dalton
Neils Bohr
J. J. Thomson.

fog

smoke

bronze

air.

for

important blood

bilirubin
prothrombin
albumin

globulin.
lymphocyte

erythrocyte

thrombocyte

[ P.T.O.



138. By @it (TN ZqEIEd A1 %6

(A)  COACERIGEE
(B) SATSTGEN,
(C) ol
(D) STCEIE |
139. TN FEE o W8T
AP 2@ T |
(A) ©F SfeTw
(B) e sl
(C) = (ST
(D) e
140. SIS ZAMIH 15 Z&
(A)  AEH
(B) @TCHICSH
(C) &P
(D) i |

141. FefResfFe @mb ramg s 53 2
(A) e

(B) SIHRIM
(C) 9
(D) (RART|
142, (PIEEA V& A1 @ 77 2@
A) Tesfoawm™
(B) SRS
(C) IEITCeTN
(D) CEICATCSTIN |
143. FEffe @m SEqee SEe IREIETN
SigES AP 2 :

(A) e Qeaigreriy enferer
B) reifer afe
(C) ETREACET
(D) ©NPss |
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139.

140.

141.

142,

143.

6001

The name of a female reproductive
hormone is

(A) testosterone

(B) progesterone

(C) gastrin

(D) adrenaline.

The pulmonary venous blood enters
57 LN chamber of the heart.
(A) right auricle

(B) left auricle

(C) sinus venosus

(D) ventricle.

The name of the emergency hormone
is .

(A) thyroxine

(B) estrogen

(C) glucagon

(D) adrenaline.

Which of the following is not a
component of phloem ?

(A)
(B)
(©)
(D)
The
cell
(A)
(B)
(C)
(D)

Sieve tube

Companion cell

Fibre

Sclereid.

site of protein synthesis in a
is

Dictyosome

Ribosome

Mesosome

Chromosome.

Which of the following organelle has
many ribosomes attached to it ?

(A)
(B)
(€)
(D)

Rough endoplasmic reticulum
Golgi body
Lysosome

Vacuole.
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144. @ 499 FINCS FRW P @RI T
© g4
() R
(B) ©@bd
(C) =
(D) THTETH |
145. (8 &S 1Mo ETie ordl T ol 24
a) e
B) o=
(C) e
(D) emibeefaeEs |

146. SO oFE b @ I 2
(A) B OIF R
(B) ‘NIBIE I IR
(C) "NTBIA I AIRTIRG
(D) ‘WPBIA O AR |
147. N5a @FD ofbe Swifaardl 2
(A) TP I
(B) QWIMIRG
(C) W@ (]
(D) w61
148. (¥17e #AfAaISla @y ¢ ofbeaqiEy AW
weifsafow AReET AAfIRies Teom wie
(A) RERIER AP
(B) SRR TR Ao
(C) oAEsr@R e Siifios
(D) SRAENER Al HuleAFoe |
149. @3 WE@ (IEa ofvepE @ Zo

(A) 1-08 volt
(B) 1-5Svolt
(C) 1-05 volt
(D) 1-8 volt.

150. Sfe Twory @t e OfS FTOEN o
e 31 o e @ I @ 2
(A) IRNSEAR BT i Sl
(B) QATHSAT 519 ZPY AR I
(C) ~TF©l ZMT IS &)
(D) el Jiad & |

144.

145.

146.

147,

148.

The type of animals showing
cutaneous respiration is

(A) reptiles

(B) amphibians

(C) birds

(D)  mammals.

The phylum of animals showing
presence of mesoglea is

(A) porifera

(B) ctenophora

(C) cnidaria

(D) platyhelminthes.

Acharya Prafulla Chandra Roy is
known as

(A) 'Master of Sulphates'

(B) 'Master of Nitrates'

(C) 'Master of Nitrites'

(D) 'Master of Sulphides'.

Which one of the following is the non-
conductor of electricity ?

(A) Gas carbon

(B) Ebonite
(C) Human body
(D) Soil.

For a definite resistance and for the

definite time of flow of current, the

heat produced in a conductor is

proportional to

(A) the flow of current

(B) the cube root of the flow of
current

(C) the square root of the flow of
current

(D) the square of the flow of current.

149, The emf of a dry cell is

150.

486001 6001

(A) 1-08 volt
(B) 1'5 volt
(C) 1:05 volt
(D) 1:8 volt.

Why does an ink-filled fountain pen
leak at a high altitude ?

(A) Atmospheric pressure increases
(B) Atmospheric pressure decreases
(C) Temperature decreases

(D) Height increases.

[ P.T.O.
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Section - III (b)
SOCIAL STUDIES
@ fRenat b 60 & ery Wtz | @ oW @3 Ranlb 53w @A S st sia Sae fice 3@ |

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

Ol s, WP ©TRCOT 9] | 91. Riverof South India is
(A) Brahmaputra

(A) o=efa (B) o=
(B) Ganga
(C) = (D) T | 0 it
92. T G BRI ST (D) Krishna,
(A) A 92. Royal Bengal Tigers are found in
(B) >foasi o4 . (A) Sundarban
) T et (B) Western Ghats

D) | (C) Himalayas

93. v Tweifor F&1 e

(D) Garumara forest.

93. Main work of a river in its upper

(A) I .course is
(B) QA - (A) erosion
(C) = (B) deposition
(D) R < (oA @T | : (C) transportation
(D) formation of meander.
94. (PSR T ............- A7 AFFRPS Gifs |
' 94. Polder is the reclaimed lands of
(A) TRRETIREH
- (A) Netherlands
(B) ot
(B) Germany
© ' (C) Austria
(D) Foeure | (D) Scotland.
486001 - |6001




95.

96.

97.

98.

99.

e ST SIS NS TH
(A) RGAISI@ TETSR w6
(B) UGN SR

(C) ~FoTarE s S
(D) SFTaER e THRET |
(A) 3 Afbwerer M2

(B) waﬁ;@mﬂﬁﬁ

(C) va A= W=+

(D) CFHBIE 7 |

RGP ATEH ZH

(A) 1T BTER &)

(B) 4 5IC&A &

(C) I BIER &)

(D) I BIEA G |

oy T 93
(A) TEFTTAE AR
(B) Tww B

(C) WE W THG A7

(D) CRGIE 7T |
MzIS> Qe @a ot
(A) SIE@E ey
(B) g Smrmw

(C) Forer g

(D) <1 |

486001
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95.

96.

97.

08.

99,

6001

Rich deposits of minerals are found in

(A) Chota Nagpur plateau
(B) Sundarban region

(C) Plains of West Bengal

(D) Mountain region of West Bengal.

The maritime boundary of India is

(A) 12 nautical ﬁn’les

(B) 13 nautical miles

(C) 15 nautical miles

(D) none of these.

Black soil is suitable for

(A) cotton cultivation

(B) rice cultivation

(C) wheat cultivation

(D) sugarcane cu]ti*_vation.
India is a

(A) Developing country

(B) Developed country

(C) Least Developed country
(D) none of these.

Result of greenhouse effect is
(A) inversion of temperature
(B) global warming

(C) industrial pollution

(D) flood.

[ P.T.O.
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100. O=rTal J21F I - 100. Temperature is measured by
(A) RSB (A) thermometer
(B) RlCIRIC] (B) barometer
(C) SHTITGR (C) anemometer
(D) P | | (D) seismograph.
101. 1@ N 2T 101. Frontier Gandhi was
(A) N SIS R (A) Khan Abdul Gaffar Khan
(B) M ST G AW (B) Khan Abdul Wali Khan
(C) M AN (C) Shaista Khan
(D) ¢TR FT 7 | (D) none of them.
102. V Goere! (9l I 102. Gorge is formed in
(A) A Twerfers ' (A) upper course of a river
(B) wMa waysifere (B) middle course of a river
(C) M= fAweifers (C) lower course of a river
(D) IRy Swerfers | (D) mountain stage of a glacier.
103. F=RER-a7 fw=fb zeT 103. Date of spring equinox is
(A) 231716 (A) 21st March
(B) 3¢ ferrew (B) 22nd December
(C) ¥ T : (C) 21stJune
(D) o CTTHER | (D) 23rd September.

486001 6001




104. 4 B @ R E e

(A) Q1A
(B) coRo{@t
(€) P
{D)- cRfeeam |
105. SCeEMEeTs Sarzae 2o
(A) TP (B)
(C]- e (D)
106. TRferar @41 farew
(A) et
(B) =R
(C) e
(D) (FGIR Y |
107. @b e eerer Hore &3

&b |

(A) Svoo
(B) svos A3
(C) swox e
(D) svoo Az |
108. 737 0 "y MFREE
(A) cefa fefeam mifene
(B) . FRRA JHG
(C) compy feresiof
(D) d0E @ 9 |

486001
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104. Heaviest rainfall

in the world is

received by

(A)
(B)

(©)

(D)

Bangladesh
Cherrapunji
Shillong

Mousinram,

105. Example of Igneous Rock is

(A)

(C)

basalt (B) sandstone

marble (D) slate.

106. William Carey was a

(A)
(B)
(C)

(D)

Missionary
Poet
Linguist

none of these.

107. Fort William College was established

in

(A)
(B)
(€

(D)

1800 A.D.
1801 A.D.
1802 A.D.:

1803 A.D.

108. The Young Bengal was led by

(A)
(B)
(C)

(D)

6001

Henry Vivian Derozio
Rev. Krishnamohan Banerjea
James Prinsep

none of them.

[ P.T.O.
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109, TEHEY WIS R

109. Womesh Chandra Bonnerjee was a

(A) e (A) Moderate
(B) GEe (B) Extremist

(C) (A) @3t (B) TeaR
(D) CPWOIR W |

(C) Both (A) and (B)

(D) none of these.

110, 9f&F& @W *PFRRE FHEd O
110. Gandhiji called for the establishment

frrfeE= 7
of
(A) q™ETE
ﬂ (A) Ramrajya
(B) SIS
(O} - (B) Ganarajya

(D) (A) €938 (C) T&F | (C) Swarajya

(D) both (A) and (C).
111, BEEEME T4 AGTIE OHS ACIRE

Rofiy e _ 111. Hiuen-tsang visited India during the

o reign of

A) ued

4 5 (A) . Chandragupta Maurya
i (B) Harshavardhan

5 ﬁ@q i (C) Nagabhatta II
e i (D) None of them.

112, [ REw a@em

112, Suleiman was a/an

(A) WA NG
(A) Arab Traveller
(B) TGN oo
(B) French Traveller
() TFw s : '
(C) Chinese Traveller
(D) CPWGR 77 |

(D) None of these.
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113.

114.

115.

116.

(A) ﬂwm

(B) TS e

(C) THIE |

(D) E™H (T 77 |

¥ IR fom

(A) g I

(B) 4 S

(C) = e

(D) CFHIE 7F |

WS’ (¥ e wmsfe @it ze
(A) 3%

(B) e

(C) ww

(D) CPWGIE 7T |

T SR FET el 2ot
() AR RS

(B) Ty serel

(C) M el

(D)  (FHIR 7T |

117, TERS Bew

(A) =»fE

(B) wmffas

(C) (A) 93t (B) T&F
(D) (G A7 |

486001
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113. Muhammad Ghori defeated

(4)
(B)
()
(D)
114.
(A)
(B)
()
D)
115.
(A)
B)
(©)
(D)
116. The

Prithviraj Chauhan
Pulakeshin 1I
Harshavardhan

None of them.

Iqta was a system of

Land grants
Religious endowment

Loan

None of these.

Khudkasht was a category of

peasants
kings
nobles

none of these.

Harappan Civilization was

contemporary of

(A)
(B)
(€)
(D)

Sumerian Civilization
Egyptian Civilization
Greek Civilization

None of these.

117. Yajnavalka was a

(A)
(B)
(C)
(D)

6001

Saint (Rishi)
Philosopher
Both (A) and (B)

None of these.

a

[ P.T.O.



118, e W

(A)
(B)
(€)

(D)

@d Iy
G qA
T 30Ny
(PFHOIZ ST |

119, TEFEISH OES WEEH FE

(A)
(B)
(€
(D)

PSS (N =TIt
QAT *PTABPIE
TR * AT
(FWGIE 7Y |

120. Reg (Rean) 3@ 23

(A)

(B) ST @t W@W RIS

(C) Rpid @3t WIETPEISIEE N

(D)

o G2 ST STEL NG

GE (T A9

121. R o7 sewieiel e ¢

(A) @ * ISR
(B) IN
(C) Fig
(D) =fe |
122, IR IR
A dm
(B) QM el
(C) == 3=
(D) TG et
486001
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118. Bimbisara belonged to the
(A) Gupta Dynasty
(B) Maurya Dynasty
(C) Haryanka Dynasty
(D) None of these.

119, Alexander invaded India during the
reign of

(A) Chandragupta Maurfa
(B) Dhanananda

(C) | Agrammes

(D) None of these.

120. The Battle of Jhelum was fought

between
(A) Porué and Alexander
(B) Ashoka and Alexander
(C) Bindusara and Alexander
(D) None of them.

121. Jaldapara is famous for

(A) one horned Rhinoceros

(B) Tiger
(C) Lion
(D) Elephant.

122. Cause of air pollution is

(A) smoke
(B) cleaning utensils
(C) bathing

(D)' use of fertilizer.



123, wiqery Sfgn Ne¥ IR
(A) TRME ABLO
(B) FEfewm
() e WifbTe
(D) Wﬁﬁﬁﬂﬂ|
124. voo fGA T ghws 21
@) e (B T
(C) o= D) &S|
125, Gt o9 ¥ ¥4
(A) - T
(B) SCRerl
(C) whFer sl
(D) Gt | _
126. %jfa@ix sz g ¥
(A) g oAfwes
B) fw-afa Swx
(C) T AHER
(D) R &TOR |

127, QW NHET ARG 2 ......ooo. TS |

(A) ST
(B) @frm
(C) Tor SR

(D) *WOR 7 |

486001

123. Mangrove forest is found in
(A) Saline soil
(B) Black soil
(C) Podzol

(D) None of these.

124. Landform which is 600 metres high,

is

(A) Plateau

(B) Plain

(C) Hill
| (D) Mountain.

125. Earthquake prone region is

(A) Japan

(B) Australia

(C) South Africa

(D) Germany.

126. Effect of revolution of earth is

(A) change of seasons

(B) occurrence of days and nights

(C) occurrence of flood

(D) occurrence of earthquake.

127. The first humans came from

(A) Africa
(B) Asia
(C) North America

(D) none of these.

6001

[ P.T.O.



76

128. b1 (a1 (7 waes v corm (ol LTl 128. The Tropic of Cancer passes through
(A) TR B) <rpu (A) Krishnanagar
(B) Bankura
(C) gy . - (D) GIRBR A | €)' Birbhum
129. RN=TY (¥ uifer siwwien o za (D) none of these.,
A) ST ol : 129. The Himalayas belong to the category
of
(B}, “wet oo (A) Fold Mountains
(C) wmrrafafy (B) Block Mountains
(D) R o4s | | (C) Volcanic Mountains

(D) Residual Mountains.

130. Y 2P BT <Ple
130. Project Tiger was started in

(A)  S»ax e (B) s»q9 i (A) 1972 A.D. (B) 1973 AD.
(C) s»ae s (D) (=GB 77 | (C) 1975 AD. (D) none of these.
131. Atmospheric pressure is measured
131. AYF BINIoP gF o7 by
(A) InEfaeR (A) Barometer
- (B) Thermometer
B) «refifate _
= : (C) Hygrometer
(C) Z2CafEom _ (D) Anemometer.
D) SR | 132. Rainfall of equatorial region is
(A) relief
132, e ﬁgfﬂ SR EFq qfa Ll (B) frontal
[A) ?.“IIWQC‘F"{ (B] qm [C) convectional
: . (D) drizzle.
(C) =ifaserr (D) <fe efe |

133. Longest river in the world is

133. *jfedlq Rfew aw / a8 o (A) Mississippi

B) Ni
(A) iR (B) = ey
(C) Ganga
(C) = (D) ==efa | (D) Brahmaputra.

486001 6001




134, wzgeh %5

135.

136.

137.

(A) Tz

(B) Fberif call
(C) WA (Al
(D) CN%F AT |
W] @ TS ZCoA! =1

() e W

(B) &0
(C) e
(D) (FHGR 7 |

Free India Centre Hfe Stafge
(A) Qe
(B) #ASH
(C}. Ghifeere
(D) TN |

Indian

FEREH

Independence League E®°

(A) ICIREE 39
(B) oravy 99
(C) B ey g

(D) €& (T 7 |

77

134. Great circle means

135.

(A) Equator

(B) Tropic of Cancer
(C) Tropic of Capricorn
(D) Pole.

Dadra and Nagar Haveli is a

(A) Union Territory
(B) State

(C) District

(D) none of these.

136. The Free India Centre was set up in

(A) Berlin
(B) London
(C) Tokyo
(D)l Rome.

137. The Indian Independence League was

486001
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set up by
(A) Rashbehari Basu

(B) Srubhas Ch.andra Bose
(C) Cap-tain Mohan Singh
none of them.

(D)

[ P.T.O.



138. Direct Action-44 o1 =

(A) <frem (B)  @ice

(C) wmrCe (D)  (PHEIE 7Y |
139. C.R. Formula-9 &@< (4

(A) OG!S HEAGIR

(B) foeae wp

(C) = Rwuy P

(D) ETR G 4 |
140. "W (A q187"-aF AP 26T
(A) BEAE] AT
(B) foeag wx
(C) e Jrga
(D) G (8 7 |

141. TREA GAHHA 2

(A) FEEF
(B) =t
(C) wrewa
(D) FFBR ¥ |
142 MCET 2T @ MEEe  $eifae
2R 2
(A) e
(B) wis<a
(C) =rzeR
(D) G @ 4 |
486001
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138. Direct Action was initiated in

139.

140.

141.

142,

(A) Calcutta
(B) Bombay
(C) Madras

(D) none of these.

C.R. Formula was forwarded by

(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindranath Tagore

(D) none of them.

Almar Sonar Bangla was composed by
(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindranath Tagore

(D) none of them.

Babur was born in -
(A) Fergana

(B) Delhi

(C) Ajmer

(D) none of these.

Captain Hawkins visited the court of

“(A) Jahangir

(B) Akbar
(C) Shahjahan

(D) None of them.



143. SITRI-GI-5TS SRS (PIATH TSI SE ?
(A) CIES
(B) ®ERIG
(C) - °AATH
(D) C(SFGIE 7 |
144, TREAFEET TN G 2F
(A) s9sa 9 (B) saxo e
(C) saco (D) saso P |

145. faS o wF <rd 27

(A) svde D
(B) sv58 9L
(C) svie &
(D) (IR 7F | i

146. G 3o ¢y Fre e
(A) =9
(B) AT
(C) SwAN
(D) ™3 P8 7 |
147. @ ren fomefa cifga Aot sifafes 2
(A) 2T FUES
(B) faoiw rwed Rewine
(C) e

(D) €tE (FC |

486001
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143.Vascq-da-Gama came to India and

landed at

(A) Khozikode

(B) Gujarat

(C) Patna

(D) none of these.

144. Farrukhsiyar’s firman was issued in

(A)
(C)
145. The
in
(A)
(B)
©)
(D)

146. The

was
(A)
(B)
(€)

(D)

1717 AD. (B) 1720 A.D.
1730 A.D. (D) 1740 A.D.

Second Charter Act was passed

1813 A.D.
1814 A.D.
1815 A.D.
none of these.

last king of the Maurya Dynasty

Brihadratha
Kalashoka
Udayin

None of them.

147. Who was called Lichchhavi dauhitra ?

(A)
(B)
(C)

(D)

6001

Chandragupta |
Chandragupta II Vikramaditya
Samudragupta

None of them.

[ P.T.O.
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148. *=s1fg A1ea «ifafes (3 aren o o= 148. Sakari was the title earned-by
(A) AT FEES . (A) Chandragupta I
(B) @R vwad Rewfre (B) Chandragupta II Vikramaditya
(C) T wed : (C) Samudragupta

(D) UMF (PG N | (D) None of them.

149, S13ere o=f¥ 1571 TE 149. The Aihole Prasasti was composed by
(A) RFIE (A) Ravikirti
(B) c?ﬂcgﬁ’foia STege (B) Gautamiputra Satakarni

(C) qﬁré;oi@ ‘Fﬁi : (C) Vasisthaputra Pulamayi

(D) ™R (T = | (D) None of them.

150. g SETE oafee SEE 150. Pulakeshin II defeated
(A) W@@- G (A) Chandragupta Maurya
(B) T (B) Harshavardhan
(C) fao AereEE (C) Nagabhatta II

(D) MR (S 7 | (D) None of them.
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fT@ / nsTRUCTIONS
( IPEDIT 2IoH @ A= F%5 / Read carefully and comply )
@®F74 / IMPORTANT

Mmmmwmwwmtmwmﬁmmi
At the time of verification of candidature the candidate should submit his/her Admit Card (including candidate's
ortion) to the Invigilator. T 4
Ao 8 ' o Wy — e, SR, TR, @, ofem, Tewrl, e W &) evere oy 30 B o ey sdwde

FIHAvE WP 2o S T 30 T ervem 93w @3l o Rty orw awe30 B eom. clbeo B evaw Yo fie T|

In Section-ll, there are 8 languages — Bengali, English, Hindi, Nepali, Oriya, Santhali, Telegu and Urdu. Each language is
having 30 questions, The candidate has to answer 60 quesh’;ms in a]ﬁ, taking one as First Language having 30 questions and
the other as Second Language having 30 questions as per his/her application form.

fr@re-n €% e ﬁw_a%’sm iIi(a) - E%EI‘G @ fa@m a3t R i1i(b) - STt | oo e 60 B o @y | o@wd wraw
G AP (@ 99T HATeE 53 PAGEH |

Section-lll is divided into two sections — Section Ili{a) - Mathematics & Science and Section Ill(b) - Social Studies. Each section
is having 60 guestions, The candidate has to choose any gne of the sections a per his&;r Application Form,

RELab] 2@ (1 el OMR T@goas A AFEIE o RN

The candidate must ensure that the Question Booklet No. has been correctly at the prescribed place in the OMR Answer Sheet.

12

I4.

FUPIGE TPRFIA 4T 43¢ OMR SOOI @A | (U0 8, 13 6 14 942 oMoFaeTa THRT 1,3 938 49 o8 oyl off T | 1 i eve
SR o Fa05 3% T S A0 o1 WY A0S W T ST OMR SUHHER HIWE R I e WY Wi FreR Bord 16T |
Read all the instructions carefully and fill the details in S1. Nos. 1 to 8, 13 & 14 in the OMR Answer Sheet and SI. Nos. 1,3&4

in the Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising during scanning of your OMR Answer Sheet.

ersteffora i@ 210 oMR Seqia e foree

OMR Answer Sheet No. should be written in the space provided in the Question Booklet.

ersolfery b 84 o1 @9t 150 b o WMy | PIoifI (AT et enewra oraR ol i W eprofe® e o d
g epeffgar 150 6 ern @ae A1l 3 (ACF 80 S B WErw w1

The Question Booklet comprises 84 pages having 150 cilc.lestians. After being instructed to open the Booklet then only the candidate will
open the Question Booklet at the indicated place. C whether the Booklet contains 150 questions starting from No. 3 to 80.
mﬁmaﬁm.mﬁmﬁw TR TH 11 g9 Taram we @orfoe wife sut gea A

All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one
mark. There will be no negative marking for wrong answers. !

CF1T S0 (F19 SIS ol i, il asmiy 2we A1) g 28 seneriia (R AN $A1 %@ A1 RS a1t s (1l(a)
93 I(h) q1%e7 '@ Bz HWEWWICWMWWWWEWWWWWWl

In any event of any factual mistake in any question/s, candidates will not be penalized. However no corrections will be made in
question/s during the examination, Section-I and Section [li(a) and ll(b) are printed in Bengali and English versions. In case of
any factual discrepancy the English Version will prevail.

@i WAl S 400 20 AR T e @ a9rs 21 | Pt el cure Fomm A1) om wfefie e el x@

Rough work, if any, may be done in the Question Booklet onlé' 151 the space provided at the end of the Booklet. Do not tear it off
ed.

from the Question Booklet. No additional paper shall TOVi

ﬁ’ffﬁ%ﬁ.m. w.m&mc%ﬁ?m,%awmﬁwwmmwmmmnmm
@ araz Sae S ST A EE 39 56 |

Use of Log tables, Calculator, Slide rule, Mobile phone, 1, Digital diary or any other electronic item/instrument etc. is not
allowed. ’l%';eir use will result in disqualification of the candidate,

2% AT A e $d OMR TEINE (el &7 |

OMR Answer Sheet will be provided separately along with the Question Booklet, g

s oS 93t OMR Seasia (o1 éﬁmqmm OMR Swaeta i WA Regeisf opa aaw aef et st fo Am

=1 ez ) fert sl ifes s firy erefoei (o e PR s @) SR T T A (1 e o o S

(01 (/1o /51 Aie R | A epeffizeny o @ arcs, oreeet wewie (it Bt e <6 9@ G

After ion Booldet and OMR Answer Sheet are issued to the candidate, the candidate must fill in all the entries in the Question Booklet and OMR
Answer Sheet. The Question Booklet is sealed by a reverse jacket; The candidate has to tear open the jacket at the indicated place in order to open the
Question Booklet. After opening the Question Booklet the candidate should ensure that any page/question is not missing / net printed / torn /
repeated. In case you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced %y him, §
orId) el G =%, (4 (TS, erefio Brfarer At cofe, form. e o, fely or, weiilie Ry, oAwR Ok @at o/ opf
A% OMR T83°0ad A8 2w FAEHA |

Candidate should write Roll No., Centre Code, Question Booklet Serial No., Category, Gender, Language-l, Lariguage-ll, selected
Subject Group, Date of Exam and his/her Full Signature in the space provided in the OMR Answer Sheet.

sterelh A0 HeF 4 6 9 B59 A, B, 93t D wwel fira Bfve @1 e offeld e vg Foy o g3t wom e ot e 9w 2@ ol 53
¥ | AP Sadlh ora OMR TE3oMa AP Tl i1 I I i 39 | bferw @ara ol (@awINIa SO 91 G (o 2R T |

With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to you is correct. Indicate your answer by rlarkeninﬁ the al:prnprialc circle completely in the OMR
Answer Sheet corresponding to the question. For marking answers use black ba point pen only.
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Once a questign is answered, no correction is itted.
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OMR Answer Sheel is designed for computer evaluation. you do not follow the instructions given above and shown in the OMR Answer
Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only,
w@u@mmmcwmmmwmw&mawﬂmmmﬂmmwi&mmon gAfofenshace

iea 93¢ Bafelecibreg (uce S amehil wrda Wl e firy o1

No candidate is allowed to leave the Examination Hall before the final bell. After co tion of the examination the candidate should hand
rrwcr IJI-!-E ?H;!_lhnsw:r Sheet along with the Question Booklet to the Invigilator and he/she will take back his/her portion of Admit Card
rom the Invigilator.
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